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[[:%iva BHEES g 79h | 4Y |GROSS| HDCP | NET
B B NRH EBER 421 45 87| 19.8] 67.2
B FEK BE 421 47 89 19.5 69.5
Ko E: I A1 47| 88| 18.5 69.5
M EBE EE A1 49 90/ 20.5 69.5
5 [FRHE EX 43 49| 92/ 20.5 71.5
6 A BUE A7 46] 93] 20.7 72.3
M W8 Bz 44 48] 92/ 19.7 72.3
86 | Hth 48] 43| 91 17.9] 73.1
ofi 2@ Xk 50 46| 96| 21.7 74.3
106 BE B A7 46| 93] 18.5 74.5
L Rl 287 45| 45 90| 15.5 74.5
1261 | HAX F—EB 50/ 50| 100 25.5 74.5
13 |8 18 45| 42| 87 11.8] 75.2
146 BT & 43 47| 90| 14.5 75.5
1507 |[HiIE BEX 40/ 47| 87/ 11.5 75.5
166 [#E BE 45| 53] 98] 22.5 75.5
176 | KiE HX 52| 52| 104 27.7 76.3
1861 ES  HE# 49| 55/ 104 27.5 76.5
ES AN 46 49| 95/ 17.9] 77.1
2061 [HA BEA 48] 48] 96| 18.7 71.3
2161 | Kk =& 46] 50| 96| 18.5 71.5
261 &R F A7 48] 95/ 16.5 78.5
2361 [FEHF H=E 48] 51| 99 20.5 78.5
2461 [H RX A7 50 97 17.9] 79.1
2561 [FE ®& 51 49| 100/ 19.5 80.5
2661 1% 18R 45| 52| 97/ 16.5 80.5
2161 [ B 52| 50/ 102 20.7 81.3
2861 |[mF XA 43| 55 98] 14.7 83.3
2961 [BK BF 49 50 99 14.6| 84.4
06 [ K% W= 49] 58] 107 22.5 84.5
It [FE EF 54 56| 110 22.6| 87.4
26 | KRAR #H= 59| 54| 113 24.9| 88.1
3362 [FFII - FEEA 58] 60/ 118 27.7 90.3
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